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SAM: AE22 ALY A
. SJADALYISAIE 2
chelr 2URY BE2IIW 25 (el @2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
— Aot 3 1,200
OLotmaX S2g2&el 996
—MIR22 54 ,000& ~12& 648
— MO ER3 29,000& x12& 348
O&FdsA 2F 2L 6,456
— (@A EUL, £BHT) MRS
480,000 x12& 5,760
— MO ER3 58,000& x12& 696
osYzZa 2yl 23,522
—(240,125)87123
1,166,660& «12& 14,000
— MO ER3 56,000& x12& 672
— Z2AIR A TVl 2 18,000 x12& 216
— 22|AIRA (MG, Y22
35,000 x12& 420
— JtA A 24| 30,000& *33] 90
—MI|tE =2 610,280 128 7,324
—SEZ0FI =2yl 400,000 *23| 800
OuWFI -AMAE RFMH 965
— 3 ge 1,542& %450 «12& 833
—-(cey 5,500& %24 *x12& 132
OSEANEE RA2el 20,000
202 04d| 10,400 0 10,400
01 2L Y| 10,400 0 10,400
OANg22gR =& 10,400
203 ¥ R =&t 2,000 0 2,000
03 Al =X H 2 =X Y| 2,000 0 2,000
OFR Al&dze gR2FA 2,000
206 M = dl 4,850 4,850 0
01 & bl 4,850 4,850 0
O2de =X 222 a1y 4,850
— 18 =gH & 28,500& =100 2,850
— Yl sS2H <2 200, 000& x5 A +23] 2,000
401 Al HI L 2 THHI 133,662 233,032 £99,370
01 A& HI 133,662 233,032 N 99,370
OZAZSE MHZ HUIAMY 100,000
— A2 (E- L A) MY
38,461.5& *2,600m 100,000
OZANZE H=x= € ==2HUIAL
230& *73,178m *23| 33,662
405 XH&HF S HI 2,900 0 2,900
01 JHMY 2= EF S HI 2,900 0 2,900




SN AEBRIAY A
M S ZE2oAIL 2t
ool 2RTR BEIIY RE EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oxges—¢ 2,900
—&IJIAE 2 700,000& *2H 1,400
—HIDIAE(2E) 7 600,000 » 14 600
—dsEE 1Y 450,000& »2H 900
AT ZEBIAS JERFAY 100,000 0 100,000
401 AIEHI L 20HYI 100,000 0 100,000
01 A& HI 100,000 0 100,000
OZANSd 2ZX3s JIER2EAY 100,000
fHUHUSZZE ALY 551,500 0 551,500
< 330,000
s 221,500
201 ¢er24| 3,500 0 3,500
01 At 22l 3,500 0 3,500
OR¥MUsZ 82 ¥ 22l 3,500
- 2= WM& 1,500, 000& 14 1,500
— I29Y Hs42g NS
100,000 »2H x33| 600
— ARHIE 7Y 50,000& *28& 1,400
401 Al HIZ 201 I 548,000 0 548,000
< 330,000
e 218,000
01 A& HI 535,977 0 535,977
OfRFMUzZ L AL 535,977,000& x 14! 535,977
< 330,000
s 205,977
02 Zeltl 9,023 0 9,023
ORFMUsZELEA 2el2a
543,500,000& *1.66% 9,023
03 AIE 2 THHI 3,000 0 3,000
OAIE =2 HHI 3,000
EHDRBA(HE) BOUS HAAMY 75,000 0 75,000
< 52,500
s 22,500
401 Al HIZ 201 I 75,000 0 75,000
< 52,500
s 22,500
01 A& HI 75,000 0 75,000
OFA2EHZSH 2ets XA
75,000,000 » 14! 75,000
< 52,500
i 22,500
2 IAIE 2l 550,643 724,056 A173,413
= st 3Y 249 550,643 724,056 A173,413
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Hu: ZABBRIHALRL
&2 23OILAIE 22| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
101 14 Hl 41,674 54,759 A 13,085
04 JIZHHZ22XREES 41,674 54,759 A 13,085
O=gZ, dAZF MHEL 22 35,662
—Jlzs 66,8003 x2& «160! 21,376
-5 66,8003 x2H x352 4,676
—52Z2fE 100,200& «1H 48 4,810
— ZE S| 200,000 »2H 23] 800
— 28z 4,000
Ostrel®Yy =8 42 S 23Ty
66,8003 x5 x18L! 6,012
201 2et24d] 423,769 363,517 60,252
01 At 2teltl 33,840 10,520 23,320
Ostseldg 22l E3 11,120
— 34 Y HLEE 300,000& 128 3,600
— &I EHuAH 100,000 »5CH 43| 2,000
— & AN HEA RULRAD| ARE
150,000& =128 1,800
LT BAN EHA AU SE 7Y
200,000& 122 2,400
- s+ 7Y 1,000
— =2 =E2IM =8 80,000& *43] 320
O#MFA S| 8,000 x3H x302! 720
OFANLESE Y =2 500,000& *43] 2,000
Ostseldg (=9 %) =stHAdXtE
200,000& 100 20,000
02 =224l 389,929 352,997 36,932
Ostseldd 23223 258,200
—HI B (MOFNMD| EE)
15,416,660& »12& 185,000
— &Gtz 2,916,660& x12& 35,000
— It BA =2 1,300,000& »12& 15,600
—AgHMRAREER 5 2,500,000 x43] 10,000
—delHolH #3& = 600,000& »12& 7,200
— PR (BA)BA 242
300,000& 122 3,600
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— 34l saltl 1,000, 000& *23| 2,000
— ZE &Yl =2l 1,000, 000& 23| 2,000
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—JIHA BZE4 2 wi 5,000
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SAM: AE22 ALY A
. SJADALYISAIE 2
Sel IR2IX N EEREED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 At 22l bl 14,640 0 14,640
OZMHI&EAIZE 2H 11,640
—=E2=2 M 700& *x2,0005 1,400
—HgzZzz)d 28 ¢ 200,000 «63] 1,200
—HARAE =3 1,300, 000& *23] 2,600
—HAE HE 2Y 200,000 53| 1,000
—St&Es 825 1Y 100, 000& *43] 400
— 2H AIREE ¢ 100,000& = 12& 1,200
—H2D| 2= 200
— &8PPI 10,000& *30H 300
—T2AH T RAY|(7E) 3,100
—ZEIDZH X ¥ JECXN FLHI
240,000& *13] 240
O HWEXE S 3,000
02 3524l 9,320 0 9,320
OEMHIEAZ 2222 9,020
— QoY & M2 50,000& =128 600
— &Moot 24 160,000& ~12& 1,920
—HARZ 150,000& *12& 1,800
—Adx HA 300,000& *13] 300
— HAEH 22&H 2,000
— AN AL ES 2,400
OF&EEUXH0IS EIR2 25,000& x12& 300
401 Al HI L 2 THHI 55,000 0 55,000
01 Al&H| 55,000 0 55,000
OZLZANEERNE > 10,000
Ot=z&2X stsSHEIE S 20,000
OF&0t2 Sd o2 15,000
OF&0ts AUHEX T XY 10,000
=22X 24 351,837 412,530 A 60,693
101 21 21d| 121,791 171,772 N49,981
M4 IIZHH2RNES S 121,791 171,772 A 49,981
Ol= 22X o222 X 64,076
-Jl2= 100,200 2 183 36,674
—F54 66,800& x2H x52 6,948
— AX=E 66,800& 2% 12 1,604
— o224 4, 1753 *BA| 2+%2H x183! 12,225
— 9 ZE S| 200,000 x2Y x23| 800
— 5282 5,825
o= 22X 4=2J] X 33,667
-3 S 66,800 *8H x35 18,704




SAM: AE22 ALY A
. SJADALYISAIE 2
SR B2 He e )
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
—F5Y 66,800& *x8H »6 3,207
— 5422 66,800 *8H*10 x1.5 8,016
—B28a 3,740
O8I W=J 22X 66,800& *3H x20 4,008
O=zgAlE 3A00H 66,800& *3H x100Y 20,040
201 et A | 138,266 129,598 8,668
01 AFR2t2l Yl 39,316 43,016 A 3,700
Oz 22X 22922 39,316
—cl 23 M 1,000& *1,5000H 1,500
—dXNZHMBIA=22 200,000,000& *2.5% 5,000
—IJlE0IEx2 100,000, 000& *4.0% 4,000
— AHAIE X 7 3,600,000 x 14! 3,600
— 820 H&E Y ot =2
50,000& =103l 500
— MRUHIE 200,000& *53| 1,000
— &) Xz 60,000& x12JH & 720
— SAH| gtz 143,000& 1204 & 1,716
— == =& H AL 600,000& *23| 1,200
— PPOHCH 2,200& *1,0000H 2,200
— S HEE(75L) 1,350& *3,0000H 4,050
— SEHSE(10L) 180& *3,0000H 540
—ABRHOXE 50,000& =105 500
—HNEEE 50,000& *x50& 2,500
—St&A HA, H3S8S 50,0003 *105+63] 3,000
— & 13,000& *330H 4,290
—0I=2E3 100,000& *10MIl E 1,000
—FHESE 100, 000& =20 Ml E 2,000
02 3294l 98,950 86,582 12,368
Oli= 22X 2922/l 94,750
— A& 2 H S&HI(F2R)
1,542&3 %1250 «12& 2,313
— A& 2 H SFH(ER)
1,338 2104 *12& 3,372
— X L 2HEH =2l 200,000 *x35 *53] 3,000
— A& S22l 500,000& 1201 & 6,000
— oS A 960,000& =101 & 9,600
—&HIIANEBE(mES) 2,500,000& =121 & 30,000
— HIIAIZES(SIHHI A2 & 22| Al)
2,000,000& x12& 24,000
— &DJ|orA 22| el 220,000& 1201 & 2,640
— AN MALIELG(HSISsEHEE)
150, 000& =121 & 1,800
A== 700,000& =121 & 8,400
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SN ALl ALS &
M S ZE2oAIL 2t
S s2&X g (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—XNEEINBAN=E 25,000& *13] 25
—Ss83EL 400,000 x3H A #23] 2,400
—IgEEE 800
—OlEXEE = 400
OZHOIX 2% 2el 350,000& 1201 & 4,200
401 Al HIZ 2018 87,100 A 18,900
01 A& HI 87,100 218,900
Ootzs & ZELX 5,600
O=MAIEE &F 51,500
Ot=22X ==Al4 ZHAS 30,000
405 TtabF S| 4,680 A 480
01 Tt EFFH S 4,680 A 480
O=9s NMFHESS 4,680
— H& (2304 ) 400,000 »2CH 800
e M 300, 0002 *3H 900
— Ol =D 500,000 = 1CH 500
—H2I(0HE8) 300, 0002 34 900
— HZ0ITV 790,0000& *2CH 1,580
JH &4 D4 Xl 2t 2| 117,270 117,270
101 14 Hl 10,020 10,020
04 JIZHHZ22XEES 10,020 10,020
O=HMILAl shEk2tel 66,800 x5 302 10,020
201 et 20,650 20,650
01 At 22l 1,840 1,840
OZelAIREZelH EHY 300,000& =23l 600
OtEzR=EZ 60,000& *43] 240
O=ddtx2e 2288 ¢ 1,000
02 =24l 18,810 18,810
O=MdItX &8s 700,000& x12& 8,400
O=MItX S4 L3 50,000& 123 600
O=HMIIA RUABHIANAE =2
130,000& =122 1,560
O=HMIA E=DI| &l ===2
15,000& =128 180
O=HM4IA &ot+=& 2= 40,000& x123] 480
O=HMILX 22AIRA HEE RR(SR)
8763 *2,5004 2,190
O=H4IX Hatx & =2
200,000 »23| 400
O=HMILX AIE2 RXE=> 5,000
206 TH 2 HI 1,600 1,600




A A2 A &
Hu: zanZesAlLne
SRl RBBI N (29l & 2)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 =8l 1,600 0 1,600
O=H4ItX &0 ¥ stE 2te 1,600
—A=2E2SH 10,000& »4Z5 x30H 1,200
— &0 H= 20,0003 x20 % 400
401 Al B2 28I 85,000 0 85,000
01 A& HI 85,000 0 85,000
O=MItX =2 &l 15,000
O=MdItX ==2FH A 20,000
O=MEItX &EIIAEHE S A
5,000,000 *100H 2 50,000
+Z2H 2,034,512 3,290,256 A 1,255,744
s 1,240,000
< 42,000
fia 752,512
He=sRA2 2,034,512 3,290, 256 A 1,255,744
s 1,240,000
= 42,000
s 752,512
A== &2 62,012 57,256 4,756
201 Yete | 60,500 55,744 4,756
01 At 22l 60,500 55,744 4,756
OLRAZEEANE 2EHIA =25 31,640
—AARSEAE 2(81]1581 014 68 S)
30,7003 *420H 2 %23 2,579
—AARSEAE E(1E15]0] 4 588 1)
319,200 #4201 2 13 13,407
—AARSEAE Ex(2I118014 138 1)
56,500 4201 2~ *33| 7,119
—ARE22EAE F(1E13014 f2ts)
10,60034*9]H_+_*1§| 96
—AARSEAE F(ERS2E18 014 13
&) 247 ,700& x 174 A %13| 4,211
—AARSEAE = (Kot=2E13 014 11
&) 75,800 x5 A +13] 379
—JtsS0Hl a2 287,300 *30H A 862
—%H L U 2ARRE
298,700& 100 & 2,987
O SZHAHA A 28,860
— g% 60,0003 x 1 «116L 6,960
— == 60,0003 x1H 3652 21,900
206 M= Hl 1,512 1,512 0
01 T2l 1,512 1,512 0
Oolts&+=& A5 9,000 424 A %4 3| 1,512
ATR 25 A& HE 1,772,500 3,153,000 1,380,500




2N

S smon
& HeEssXae (cho &)
. _ = SfE|
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
Fag 1,240,000
= 532,500
401 AlEHIZL £ 0HY| 1,772,500 3,153,000 A 1,380,500
Fag 1,240,000
= 532,500
01 Al&H| 1,771,000 3,143,000 A 1,372,000
OARE =T Ald HESAA 1,771,000
= 1,240,000
= 531,000
03 Al 201 Y| 1,500 10,000 A 8,500
OARE =T AIE HEAY 20 1,500
DISA4E Al B2A 70,000 70,000 0
401 AIEHIZL 201 Y| 70,000 70,000 0
01 Al&H 70,000 70,000 0
OUSA4E AlM 24 70,000
—HrEEL 10,000,0002 *27 A 20,000
—LsazEs 100, 000& *300m 30,000
— 2838 10,000,000 *2JH 2 20,000
IlSXEMEZ2 42N 22 10,000 10,000 0
201 et | 10,000 10,000 0
02 222 4| 10,000 10,000 0
OEIZ 2 MIANE B 2,500,000 44 2 10,000
HYEZUCANESHAHNEILUHWRAES 60,000 0 60,000
401 A& HI L 204 HI 60,000 0 60,000
01 Al 60,000 0 60,000
Obi=Xl HEEH 2A(AMSH Ha)
60,000,000 *= = 1A 60,000
=0 U=EHE ALY 60,000 0 60,000
o= 42,000
= 18,000
401 Al HI L 204 HI 60,000 0 60,000
o=} 42,000
= 18,000
01 Al&H| 60,000 0 60,000
OL2A0tE MALTAIE BH(F0 L) 60,000
= 42,000
= 18,000
SHMSAAH (AE DAL A) 82,854 9,240 73,614
JlE&d| 71,094 0 71,094
Jl2 &4l 71,094 0 71,094
201 LBt | 50,814 0 50.814




CAE 22 AE A
N SIIHI (AL RRIAE L)
Jl2&tl

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 48,062 0 48,062
OZA =AY 60,000 1 480 28,800
OMEMUNEZI=E 600,000 *43| 2,400
O=z4 IFF 728 & AMEH 1,140
—=34 FRF 72 320,000& »23| 640
— =34 3 MEH 100,000& *53] 500
OMBA SX2e =23 200,000& =102l 2,000
O=AIE Xt = 660,000& »12& 7,920
O=AIEX 7Y 22,900% 15 A +128 4,122
O&F=J Xz 40,0003 x1CH*123 480
O3A8F #¥ 300,000& *43] 1,200
02 2324gHl 2,752 0 2,752
OARA A= RX2L 1,000
OARa U8 K77 876& x2,000£ 1,752
202 (44l 7,680 0 7,680
01 SLHOYI 7,680 0 7,680
O=Wotl 7,680
203 B R =&l 7,100 0 7,100
02 BRIt AR E T 1,640 0 1,640
OF AL S = 1,640
04 FN2ELSZ=TH| 5,460 0 5,460
FA2EHRFIHI 5,460
405 XtatE SHI 5,500 0 5,500
01 AR ESFH S 5,500 0 5,500
OMRA &EIIHIE ¢ 5,500
— 2% 200,000 *204 4,000
—H=2&32] 1,500, 000& = 1CH 1,500
oret 2 g | 11,760 9,240 2,520
ol 2AY| 11,760 0 11,760
101 @124l 11,760 0 11,760
03 RIHAZ 22+ 11,760 0 11,760
OlNstMHEE=Z 70,000 x14H «12& 11,760
MRS (ALRelAYL) 5,626,732 0 5,626,732
WEHHX = 5,626,732 0 5,626,732
LHE Hel 5,626,732 0 5,626,732
701 JIEtSI HSHES 5,626,732 0 5,626,732
01 JIEtel HE &= 5,626,732 0 5,626,732
Od+==CSE3H HE= 4,229,708
—o=EEE3H 2 1,788,708
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